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— - FOREWORD

GMAT (BB E4LHEAEHARERSNE R, FTREAETR—MRkKENNAER
MER, EEEMEXNERBRABRELRENRKBRMNNBERER ), RAIEE, AE
BN GMATHH B RN XBERLFET S TR ZENAME, FEEERBNEE
W, BRINESFEERED T, 3T A GMATHAMBEZREBHERA, HARFENE
RATEERAH GMAT ZERNBEBN T EIEFEM. Verbal FHEBEH—NHSE2IT
¥4 3E (Critical Reasoning ), BIRMNAEMNEBERIE, REFEZRAURKEBERE
H, BRERNAE#T GMAT ZEHENZENHE #HTEW M AN, It GMAT KRR
MEBAERENREOETEEHAKRSE, FREMNE L 2945 DEANHERNERTE
MOEEHELEZ K, GMAT Verbal BB EBMM R EZEH N 10— 14 &, MBEFEAL
REZFERSHBEFTARINFAATMAR. REZ, RNIBASEBEIAFRL RN E
BAEERENIERmAR., ERREMARLRTHE, TEXEARITCEBEENH, Y
EREZBEMMIENERCLRECRTMANAXAL X, YASKBEATERE “GTiR Y
B R, IBRMNAEHNAE R EFTRFTR2IEH M. GMAT BEBEIREMNE
BEUALERAGFERAEZER, GMAT ZEHBINEAINEY, AXHRPRLESL; B
KFIANEHNELHNEY, £ GMAT ZEHEEH XML EE,

EPRANRRAZ—ZIE GMAT BEBTE P K A9 E A8 N & 5 15 DUE W & BF 18 = 1=
MERE, ERXLEXTEE AN TRAGMATZEEMENSEBSENER. BN
BMNME, GMAT ZEBRBEERBMNAELZRTRNLLHAALEX., BINREH SAK
W, HIBSERE GMAT ZEREMNERNER —, ALEFPENEESBED (FARR
HEF ) -AEEXRANNAETRFETFHREMITRATRFRARBEHARES FEZ
BEMUAKHEHK, 8 GMAT HISSBMB AN SI L £ E P i) Weakening Argument SEL R
o GMAT HISSHEF, FEMERAETHNR., FEIRERTRER, MBS HM
TEFEHEEELELEZETRERPAENRIFMHTMIL,

Argument .

Low taxes stimulate the economy , creating more taxable revenue and increasing the a-
mount o f taxes the government collects. Therefore, any country that wants an ef fective

tax system should lower its taxes.
Weakening the Argument—Real Life Version

ERX—HRBBALERINHEERT, REARSAREHAR (Premise ) AR
e 1



FRF, EMNAIHRSNREMNSEMRHOTER: KAKEERERBER RARLFN
A? BERKESEESERSPTOMIRABIKAN? BEEBKTINSRESNRRBK
A, BEREAIBRLRE, BARATANBRBBEAKARKE, LR ROHEREEHY
iR, SINARMEISARAE GMATHISBBPREFRL. GMAT BISHMEF, BRRK
MAEXNROREMRERE, MEHTRFHTERATEAIENERE,

Weakening the Argument—GMAT Version

BMABMNEBBFARARNERELN, BAMNBHFZHIE, RIONEXH B ZBERETH
k&,

Assumption: Anef fective tax system is one that maximizes tax collection revenues.

Weakening: A tax system that collects a lot of money might not be considered ef fective
if it doesn’ t provide the incentives desired by the government.

HR, A PELBESBINELE TR ERL RENEN, RBIZTAEX MR XL
XIETUATHRHRR. UARSFLEBRBOIESD, FEHTTEBELELXHE,
RNBAER T EEAE W

BRETNAMTUYKLTENSSSRGEZAMNK, ALBXNESXBEERR L
Fto BHHN, RNOEERMBEREHXTRUNZTIUTREGEZHR.

FRBRIENFEXRISRSEZEASEXBEBTUZEMNXR, I LR BRIEE—
Big& (DEREEG), RINRAENEXB TV ES|SSEZEANEARXRZNAEH#RTE
Z, MEEABRELMEIEFTHNZSSEOAASLEATELEINTELMEM, BAR
AkHEE, RMNITUHME: London did X, then Y occurred, A If other major cities do
what London did, then Y also would occur.

ABPEFEIUFZELE GMATEENERMEREN, NMAEFXEE GMAT 2EMA
M, £EZBHAT CGMAT BEEE, BNEFSEAIEXNENZR.

BENTFRELTFABESHEUNBLCKR IHBARS! ZHit, RNEaXBRE
40 B9 B 5315 7S s
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F 45 B FriRE (signposts) -
ZE BN AT 48 89 45 1R 18] (signposts) -+
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% FBU & (Negation) £ T5 1712
XFBIZHEEMPERIAR -
X FiZ #8415 (Relevancy) B 3| bt

BaAHH IS HEES GMAT 455 #HEME M AR X 5 -

R A -

ﬁﬁﬂ(Quantlty Words) 55 4 %717 (Extreme Words) oseeeeervesseesneniianiann,
BF 339 44 8 (Must Be True) #9805 B B BLEPE B SN  coeveeeeemmenimninenn
e e (14)

GMAT 245 #: 3 b (307 5 LBl Fa B -

K

*F GMAT #Z#HE M Market Share

GMAT 3B %8 #f 78 b (4 P 5 B Bt (Causation) -
et e . (17D
R ¢ 12
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001 MudMLsrCRMADEES R

Xt F 52 24 598 88 iF (Complex Argument) , B 7o XF B 7% # 3 38 43 #1752
oA R B A 2 26, O R B R B IR BRATT, F A R Je K32 /8 1, 75 |1 3k 4 X
BE T # TR AT THE T SREHEHTLEER, L2 LW
L2 LR 8], 76 A BR8] B, 33X R AR TR 2 B 1]

002 £iEdpifingwEdad

GMAT ZH#HEHFTHWEREREETSBERBRXANECF IR ZEXERE
ZERBELFELMARENVER, FENERENRENXFFEERELBIBER
MICIESH LT EE, GMAT 2EERTERENFESILHAFAR
KRE5 . GMAT ZBE#EHNE LLWFY, L F foRk 0 5L, B FikE
NEHZEHFEY,ME GMAT ZEEHMPRUVEL. BN FEFNTSHERER
MSEER () BN EXLHFBED  ZBEEEMMEREREENEH A ZE Z#H X
EREHALEX!

Example

In the years since the city of London imposed strict air-pollution regulations
on local industry., the number of bird species seen in and around London has
increased dramatically. Similar air-pollution rules should be imposed in other
major cities.

P B S UE R A B IE G R AT A 25 2R

London did X, the number of Y went up. Therefore every other city should



do X.

ZHEMSHAEF R, HSXHEAENRIENLHE I REREANE
I,

KHEHER R, AT LLE LLF & W AE & air-pollution rules should be

imposed in other major cities )& F B .

(D The air-pollution problems of other major cities are basically similar to
those once suffered by London.

@ An increase in the number of bird species in and around a city is desirable.

@ The increased sightings of bird species in and around London reflect an

actual increase in the number of species in the area.

Example

(P1) The Jacksonville area has just over one million residents. (P2)
Cincinnati has almost two million residents. (P3) The New York area has almost
twenty million residents. (C1) Therefore, we should move to Jacksonville.

BN fE P1,P2,P3 # N EH, NBLEH R MAEF , =1 Premises R4 7] LAFE
H“we should move to Jacksonville” ) L. MBLL A F oM, F F we
should move to Jacksonville B J& H 7] A 2 K A Jacksonville City /N JE A ,{H
M GMAT Z 381/ B 22, JAT R QIR I (8 3B 454 BRI AT, T B 7% % 18X
HIHBEE X,

BAUEEELREANEES, ZETHIOER  HEEZRSHBIEEK, S
SO B RE K R E VR B B AR R T R

Example

Scientist: Isaac Newton’ s Principia, the seventeenth-century work that
served as the cornerstone of physics for over two centuries, could at first be
understood by only a handful of people, but a basic understanding of Newton’s
ideas eventually spread throughout the world. This shows that the barriers to
communications between scientists ...

I, EEEAT T # Principia N ER G L EBEZEMEL T, LASH
M) X I G 2R A BR AR . KL 2L B {8, 2438 3134 40 high-density lipoprotein, pironoma
XRARH Ly B & B, FRATTE 7 X Hhn A& olk BB A% , T s HOGSE P B S5 K



B & HEH rp & E &K (elements) B HE & (ideas) Z (B B X R,

003 ppifigwa#i s

GMAT Bk #3343 B9 SCF WA AT 43 8 P AP 28 5] - & 18 4iE Cargument) f 3C
FHEMEFLRE R Hacts) IXFHE,

WE (Argument) : B F—2H A & (AT 48 440 M HEHE S50 p R i 2
Example

All professors are ethical. Mason is a professor. So Mason is ethical.

WHE (Facts) : NAFEFIBTEN S (FRiB) .

Example

The Jacksonville area has just over one million residents. The Cincinnati
area has almost two million residents. The New York area has almost twenty
million residents.

ER=EABRRAA B —NERICIE, BAEPREE BT, R =4AE
A BT E  RAVEEAR S X = e 5 T B K/ gt 38 4R 6L, 3X 66 B AT BT i i Y
BEARWIEER A, H e R 7E R 13— 21 3 SE PRR BB

004 £FH#D#»

BU#R (premise) : 452 AT 2 F (9 35 SC 3 BR R, B 48 XF 4518 A2 31 2 Fe i B 1
EH .

EFXTRTHR M =R GEE A R

L Ze Wit IR 3 A & 2R3 A g

2. ZWIEA IR ?

3. EW W RIIESE R A

#5i¢ (conclusion) ; it — K —AN LA _b B4R BT 80D 160 4 3 e 3 k50 6T
HXI LR =N ERBGEBAR) .
. ZWIETEES BN R4

HREHLT T T



2. ZgIEIK ELERAF R A7
3. M EXER BT LM ML

005 £ 4 % & 4 2 44 (signposts)

because, for, since, for the reason that, for example, in that, given that,
as indicated by, due to, owing to, this can be seen from, we know this by,
suppose, assume, in as much as, may be derived from, is evidence that, the

basis, based upon ...

006 # # % & 14 47 48 (signposts)

we say that, must, may signal, cannot may signal, suggests, indicates,
implies, thus, therefore, hence, consequently, as a result, so, accordingly,
clearly, must be that, shows that, conclude that, follows that, for this

007 £ #Ae4 3 @ 4% 92 48 (signposts)
furthermore, moreover, besides, in addition, what’s more ...
008 % A 4 L @ %4 42 44 (signposts)

but, yet, however, on the other hand, admittedly, in contrast, although,

even though, still, whereas, in spite of, despite, after all. ..

009 #%£ 4 Argument

—~ argument ) FEAZE 4 . BT $2 (stated) + 1% (unstated) = 4518



010 32 # Assumption

R, B — MEMEE R W ERM . BEZ A DR,
)2 B R TE I WAL, B s R Z AR Z AR AR . 3T GMAT R 5
Xof 1E R 19 T A B K a0 S o T 4 B TG 0K AR .

011 #BiabIHH42dH

Strengthen Question: Xf — MHEHHAT LM FKMASH X4, M BA FMAXZ
HEFR A SCRE AR KA /DN, T ER/NRIEEERT 2 1%6-99%.,

Assumption Question: i@ if i & — DL ERKMH (BT Z AR, HZRULA)
5575 H#E 3 2 B8 BT
Example

An argument concludes that a teenager is an outstanding golfer.

iz 458 B B R % (W BE 54 4 : The teenager almost always hits the ball
g%, The teenager almost never swings and misses the ball. |

iz 4 e T X FERMIL P AT L2 The teenager won a local club

tournament.

012 £ F & A (Negation) # %5 & & Al

B (Negation) ¥ UE GMAT R B H FH B — SR W 5 0z F i SR g B, i
HEX R A AT B 2 SR R . X W A7 IR, & R E AR BE LS (B Z A
SR, Wz T oy — MR, B 6 B2 5. |22, X 8 T i A7 BUS , #5 L HfE 3L B
S, WZ TR AN REAE S — MR, Bl R FEAE .

HU R ( Negation) K % % Bl ) ( Logical Opposite), 5 #& X} B 3F ( Polar
Opposite) XK F| 40T .

B & : 1 went to the beach every day last week.

B3 EUR (Logical Opposite) : I did not go to the beach every day last week.

- # 3 EXE (Polar Opposite) : I did not go to the beach any day last week.
¥ 1 3% # B (Logical Opposite) Xf F ik GMAT R AEH EE, &K

(R Y



GMAT ZEIESHhE:

i1 e #R 48 F 31 56 & 7~ 3 f# Logical Opposition 5 Polar Opposition X 51 ;

Sour

Logical Opposition Polar Opposition
Sweet > Not Sweet < Bland > Sweet

Bitter

WE K F R MNRIR A IEEIEE
{All =100 {Some =1-100(everything but none)
Not All =0-99(everything but all) [None =0

Bt 18] &1 98] /Y Z 48 BX 3k

{Always {Sometimes
Not Always Never
th = &Y 17 By % 48 B 3E
{Everywhere {Somewhere
Not Everywhere Nowhere

013 £FBuaigwairta

Supporter &Y
PRR BN B HEH TR Z 8] (9 BRER ST R i .
Example
All male citizens of Athens had the right to vote. Therefore, Socrates had

the right to vote in Athens.

Assumption; Socrates is an Athenian male citizen.

Defender #!
BB BT P R AE T 50 I XoF 485 145 ke 1) 55 1 P o) oAt 5
Example

People who read a lot are more intelligent than other people. Thus, reading
must cause a person to be intelligent.

YE R HI 55 bR 45 i B R 31 2

Sleeping more than eight hours causes a person to be intelligent.

Regular exercise causes a person to be intelligent,




A high-protein diet causes a person to be intelligent.

Genetics cause a person to be intelligent.

B IR HE AL, M AR 8 R B 2 B & T 2R 4 A BEFFTE

Sleeping more than eight hours does not cause a person to be intelligent.
Regular exercise does not cause a person to be intelligent.

A high-protein diet does not cause a person to be intelligent.

Genetics do not cause a person to be intelligent.

014 £ F 2 8 18 £ (Relevancy) & #| &

GMAT #4858 A A G347 JC O HE BE AN o BE HE 2, B R BB X #E B #E 4T3 S M
RELEZEE,GMAT BEAZ EHEEN T E, RERINTEEE:

1. G0 By A 3 B0 48 5 40 28 58, B A BY T G R IR HE I N IR A B R £
R, W2 K 2> R BT B HE B RS HE R

2. X B — 1 T A i SR IE M BE R T 20 T4 AR Y FT REPE R OK .
Example ‘

s F K KT BB B K4 32 B 2 i I 45 R AR .

B — BN TR R E AR AT F 28 XM T LM aE oy 2~3
/NEF

W RIEX =ML RFE W E, A0 Z-£+ SR AR AR T W 4
REETRBGHER

WHE—F PIRE 8 SR R 0 5K, L SHEE 6K

WHE Z SR, B O 2 A2 X I 48 BRAE A 28R B D E 2 AR I I AR IR Y
£,

3. DLTERS IR A Rr ok vk, 0 A BE 8 > AR AR B 3 LK) o 1 R ok
WA RTCK o

Example

Beverage company representative: The plastic rings that hold six-packs of
beverage cans together pose a threat to wild animals, which often become
entangled in the discarded rings and suffocate as a result. Following our lead, all

beverage companies will soon use only those rings consisting of a new plastic that

(1R T T T T



GMAT ZEiESHh %

disintegrates after only three days’ exposure to sunlight. Once we all complete
the switchover from the old to the new plastic rings, therefore, the threat of
suffocation that plastic rings pose to wild animals will be eliminated.

Which one of the following, if true, most seriously weakens the

representative’s argument?

A. After the beverage companies have switched over to the new plastic
rings, a substantial number of the old plastic rings will persist in most
aquatic and woodland environments.

B. The new plastic rings disintegrate into substances that are harmful to

aquatic animals when ingested in substantial quantities by them.

Correct Answer: B

B LW 45 K A #T plastic rings, U4 TH R EF 4 sh ¥ 8 fik 3| plastic rings i
i) %= B XU (threat of suffocation) , 4518 58 I8 B 2% .0 J& 28 5 IXURSE B 88 T8 B 25 57 4
B B335 1 1H plastic rings, A8 4 2 B XK 8 SRR FFTE

A TRZ BT LA, R A R BB BB 4510 0 B4R ¥, B suffocation 513 1 i
harmful ANRE— PR

015 REPdH#HM2L GMAT # # 2 &
kK&

Hiss A RE GMAT ZBEMNE LSRR Z — HLEHE P RNEESET
(B ANBHE B ) —J7 8 5 R XX 7 3 9K Br & T 5918 38 A a0 48 o 17 3o 3R
Bwar NfEX T EZ A SR AR FEK. H GMAT B35S A2 5 LA DI
Weakening Argument 524 A6, GMAT HIS5#HEH B, NEEX 458 Fr & T 0 R
R EHe R TR R, A 8 o HoAh AT BB FEJFRE MR S5 e R E TR H
o5 78 B HR B A4 T AR

Argument :
Low taxes stimulate the economy, creating more taxable revenue and
increasing the amount of taxes the government collects. There fore, any country

that wants an ef fective tax system should lower its taxes.

Weakening the Argument—Real Life Version

AR — HER R B B L AT P R R, RE AR & VR B A iR



(Premise) By 77 AT RF , M fi178 T 68 £ %F A 42 (9 & 28 M 48 4 F 4E 0] - IR B i
JE 75 FLIE RE R B R B2 Y 19 16 A 7 (B W B 5 B 1E 4 ok 22 /D 8 41 19 I 4 B i
A7 B AR AL U RT DA R BB 25 4 JNL 40 B WL, B R R B R IR, BOAT B X SR B
A B AR SRARAIK . 3R LA BE R &R 2 B4 4T X R4 . B Xt AT $2 /9 5 55 77 =X
£ GMAT ﬁlJE%ﬁﬂW&E?ﬂo GMAT H| 5588 o, ZR EATAREX AR I
SRRt B8, B GMAT ¥ 58 0 8, 3 1] 78 386 47 550 A o7 32 MR T 4R O 2L 9
JE

Weakening the Argument—GMAT Version
BE SR A1 2 ST AT 4R O A0 JE 0D, IR 4 i EE ) 55 A S FRATTI 2 H 55 i HE
TR T B9 R .

Assumption; An ef fective tax system is one that maximizes tax collection
revenues.

Weakening: A taxr system that collects a lot of money might not be
considered ef fective if it doesn’ t provide the incentives desired by the

government.

016 3 MEH

P PILEF Y ER LR B AR R, #E W EAT7E 55 Ah a8 4 b AR [R) i) — b
HEHE
Given Case: The purchase of guns should be restricted.

New Case:  Should the purchase of hammers be restricted?

Cause: The purchase of guns should be restricted because guns could

be used to kill large numbers of people at a distance.
Judgment; If hammers could be used to kill large numbers of people at a
distance, then the purchase of hammers should be restricted.

Given case: Grape wine is prohibited.

New case: Is date wine prohibited?
Cause: Grape wine is prohibited because it is intoxicating.
Judgment: If date wine is also intoxicating, then date wine is also prohibited.

.A"

I

IRALRER AR



GMAT BiEiESHhE

017 # ¥ 4@ (Quantity Words) 5 % af 44
(Extreme Words)

RZEBLT 2 58 20 A A BT 3 A1 & 70 575 2 38 00 9 A 4 %o 3] 0 4 B3]
B “always”, “never” % 2 & H 16 B9 £ 0 E L H Bl “ sometimes”,
“possibly” %5 2 JE B i8] B A AT 3, MIRATEMGETHEE AT LB HEBR WA
“all”, “always”, “never”, “none” SF<FHR MY BETR . T 0] {5 FH 33X L 45 Xt §]) ) 358 200 3
LB HES A Y B . PR O 7 S A DA R 3k T B TR R A% A B Quantity Words 5
Extreme words,

wEHER HF A some, PEILHE most LI 04

WFEHER A some, HEULHE all BT L4

W JFEHE S A most, $& A #E many;

mEHER A all, JEIHFTHE some,

Example

The importance of the ozone layer to terrestrial animals is that it entirely
filters out M wavelengths of light but lets others through. Holes in the ozone
layer and the dangers associated with these holes are well documented.
However, one danger that has not been given sufficient attention is that these
holes could lead to severe eye damage for animals of many species.

Which one of the following is most strongly supported by the statements
above, if they are true.

A. All wavelengths of sunlight that can cause eye damage are filtered out by

the ozone layer where it is intact.

B. Few species of animals live on a part of the earth’s surface that is not

threatened by holes in the ozone layer.

C. Some species of animals have eyes that will not suffer any damage when

exposed to unfiltered sunlight.

D. A single wavelength of sunlight can cause severe damage to the eyes of

most species of animals.

E. Some wavelengths of sunlight that cause eye damage are more likely to

reach the earth’s surface where there are holes in the ozone layer than

where there are not.



